
Points

WEEK2-DAYI

No. of hectares = 90 000 + 10 000
-o
-J

The area is t hectares.

O --. area is a measure of space inside a
5nape.

e -. f ind the area of a
'rtangle we multiply
:^gth by the breadth.
!,amples:
: Find the area of a rectangle with sides

8 cm and 6 cm.
Area =Bx6

breadth

is 48 cm2

sides
= 48 The area

c Find the area of a rectangle with
'1.2 mm and 0.8 mm.
Area = 1.2x0.8 (12x8=96)

The area is 0.96 mm2

-o find the area of a square,
.'/e can square the length of the
side.
'=xample: Find the area of a

square with side 7 cm.
Area = 72

= 0.96 (2 digits after decimal point)

o side

[-l,ia"
l

?

t70 height

breadth= 49 The area is 49 cm2

O ro find the area of a triangle, ,41
.ve halve the base and multiply
Dy the perpendicular height.
Examples:
a Find the area of a triangle

with a base of 22 cm and a height of 9 cm.

1

Area = - x22x9
2

= 99 The area is 99 cm2

b Find the area of a triangle with a base of
26 mm and a height of 2 cm.
First, change 2 cm to 20 mm.

Now. area =! x 26 x 20,2
= 26 x 10

- 260 The area is 260 mm2

€) rh" capacity is a measure of the amount of
liquid inside a container.

@ Conr"rsions invotving capacity:

€) conr"rsions involving area:
10 000 ffi2 = t ha (hectare)
Example: A rectangle measures 450 metres

by 200 metres. Find the area in
hectares. .

Area=450x200
=eoooo /

@ l"rg" areas are expressed in square
kilometres.
Example: A map has been drawn on the

grid, where each square has an
area of one square kilometre.
Estimate the area of the island.

Shipwreck lsland

m.----Jl

The island is about 17 square
kilometres.

@ rh" volume is a measure of the space
contained inside a solid or container.

@ ro find volume of
a rectangular prism,
multiply length by
breadth by height.
Example: Find the

1000 m1= 1 1 1000 1- 1 kL
1000 kL = 1 ML (megalitre)
Example: How many litres in 7430 mL?

7430 + 1000 = 7.43 (7.43 L)

@ Conr"rsions involving volume and
capacity:

1 cm3 = 1 mL (cubic centimetre = millilitre)
1000 cm3 = 1 L i
Example: What is the capacity of a cube

with side 10 cm?
Volume=10x10x10=1000
As volume is '1000 cm3, then
capacity is 1000 mL or 1 litre

volume of a rectangular
prism with dimensions 4 cm, 3 cm
and 2 cm.
Volume =4x3x2

- 24 Volume is 24 cm3

length

)2
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(D a, 1o years = one decade,
10 decades in a century,
10 centuries in a millennium
This means there are 100 decades in a
millennium.

@o*'rooo=0.006
This means 6 mm = 0.006 m

€)n, ;";= ], t," area is I , ,

1

=,
1

=,
=85

x17x10

x 170

The area is 85 cm2.

Oar"u=14x B

=2x7 xB
=2x56
-'112

The area is 1 12 cm2.

€)a, 12xe- 108
Area =1.2x0.9

= 1.08
The area is 1.08 cm2.

O a, 20 x 

-= 
340, then

340+20=34+2=17
This means the breadth is 17 cm.

@ 41 4.8 is close to 5, the area is close to
52=25
The best estimate is 25 cm2.

1

Area=Sxbasexheight

1

=, xBx6

=24
The area is 24 cm2.

€)ar"u =;rbasexheisht
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@ volrrn" =7 x5 x6
= 210

The volume is 210 cm3

€) A, 1000 kg = 1 t, 39.05 x i000 = 39 050
This means 39.05 t is 39 050 kg.

@ volrr" = 12 x5 x io
= 600

The volume is 600 cm3.

@ Rr", = 32ox 3oo

=96000'
Hectares = 96 000 + 10 000

= 9.6
The area is 9.6 hectares.

@ t, counting the area af the front face,
which is 16 units2-
Total area = 16 x 61

=96
The area is 96 units2.

@ n, l ooo mL in 'r L, 3.07 x l ooo = 3o7o
This means 3070 millilitres in 3.07 litres,

@ vlur, = 625 - 175

= 450
The mass of jam is 450 grams.

(Da, 1cm3=1m1,
5000 cm3 = 5000 mL = 5 L
This means 5 L in 5000 cm3.

@ fO x 5 x- = 2OO,the missing number is 4
This means the height is 4 cm.

@ Consider each of the volumes:
4x3x2=24
5x2x3=30
8 x 2 x 1 - '16

6x3x1=18
As the largest value is 30, the dimensions
giving the greatest volume are 5 x 2 x 3.

18 2A 3C 4200 5D 6C 70.01 88 924
10c 11812C 13A 14D 1ie reo

t6t25

- 175
450



@ Rr""
1

=Z*basexheight
1

=rr12x10
=60

The area is 60 cm2.

@4r""=10x6
=60

Amount=60x200
= 12 000

This means 12 0OO yams, or 12 kg needed.

@ar4+4+1 +1=10,
Cost = 70 +70 +28+28

= '140 + 56

= 196
The cost of the paint is $196.

@ a, there are 5.5 lots of 10 in 65, we need to
1

multiply 6.5, or 61 by 12:

1

Time=61 x12

=6x12+
=72+6
=78

x12

It would take 78 seconds.

1

,

(D n, 1 kg = looo g, need to find how many
25s in 1000?
As there are four 25s in 100, there are 40 in
1 ooo.
This means 40 m2 will be covered.

@ z * 1000 gives number of mL, and then
divide by 7 for the 7 glasses: 2 x 1000 + 7

O umbrellas

€) truly
(O writing

@ receipt

G) opposing
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EXPLANATIONS

O a, 8 x 't00 = 800, we need to multiply 15
bv 8:
Fuel=15x8

= 120
The truck uses 120 litres.

On the,grid the rectangular rug covers
6 units2.t
This means the scale is 6 units2 = 12 m2

1 unit2 =2m2
By counting there are 32 - 6 = 26 square
units uncovered. As 26x2 = 52, there are
52 m2 uncovered.

O zso - 3oo - 4so
This means that 450 mL remain in the jug.

@ ,,2litres every 6o seconds means
1 litre every 5 seconds or
1000 mL every 5 seconds or
200 mL every 1 second.
The rate is 200 mUsecond.

9 nr't2 x 2 = 24; 6 x 4.= 24; 8 x 3 = 24:
20x4=80+24.
Jake's rectangle is not 20 cm x 4 cm.

@ volrr" = 10 x7 x 6
=10x42
= 420

The volume is 420 cm3.

(D Rr"" = 0.1 x 0.1

= 0.01
The area is 0.01 cm2.

@ volrr" = 4o x 20 x.,o
= 16 000

The volume is 16 000 cm3.
As 1 cm3 = 1 mL, the capacity is'16 000 mL
or 16 L

€) t, counting the squares, you get24units2.

@ volrr" =3 x2x4
=24

The volume is 24 cm3.
Mass = 24x3

=72
The mass is 72 g.

eheek
Your
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A, 22 cm2

C 56 cm2

B 44 cm2

D 112 cm2

1.2 cm

I lo.g.,

D 10.8 cm2

A
B

c
D

27 cm3

60 cm3

600 cm3

1200 cm3

@ R sporting complex is in the shape of a
rectangle and measures 320 metres by
300 metres. What is the area?

@ rh" diagram shows a cube

A 9.6 hectares
C 960 hectares

B 96 hectares
D 9600 hectares

B 18cm
D 320 cm

(D Ho* many litres are there in 5000 cm3?

A 450 grams
C 575 grams

A 5L
c 5001

A 2cm
C 10 cm

D 96 units2

B 550 grams
D 800 grams

50 1

s 000 000 L

B 4cm
D 40cm

B

D

(D ft," volume of a rectangular prism is

200 cm3. lf the length is 10 cm and the
breadth 5 cm, what is the height?@ Wf,ut is the volume of a rectangular prism

breadth 5 cm and height

B 105 cm3

D 420 cm3

€) Ho* many kilograms are there in
39.05 tonnes?
A 390.5 kg
C 39 005 k9

with length 7 cm,
6 cm?
A 18 cm3

C 210 cm3

42

O Wf,"t is the area of a rectangle with @ rino the volume:
dimensions 14 cm by 8 cm?

gll 891 vst v?3 oEt ozt v lt )0t o6 )8 )t 89 vs )t vE €r a ]rcrail{ur7 -- -
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O wh", is the area?
A 0.108 cm2

B 1.08 cm2

C 1.8 cm2

€) R rectangle has a length of 20 cm. tf its
ayea is 340 cm2, what is its breadth?

t A 17 cm

C 34cm

(D *n.a is the area of the souare?
11111.'A Ocm2 B 1r, I l'

with a grid placed over the
front face. What is the total

. area of all the faces?
A 16 units2
E| 32 units2

C 54 units2

@ Ho* many millilitres are there in 3.07 litres?
A 30.7 B 307 C 370 D 3070

@ An unopened jar of strawberry jam has a
mass of 625 grams. When the jar is empty
the mass is 175 grams. What is the mass
of the strawberry jam?

B 5x2x3
D 6x3x1
i
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@ a rqrrre has a side length of 4.8 cm. What
is the best estimate of its area?
A 10 cm2

C 25 cm2

c f cm'
4

@ wh", is the area of the
triangle?
A 12 cm2

C 48 cm2

(D wf,ut is the area of the
triangle?
A 27 cmz

C 85 cm2

D 1cm2

B 24 cm2

D 60 cm2

B 80 cm2

D 170 cm2

B 16 cm2

D 250 cm2

B 3905 kg
D 39 050 kg

N
6cml \n\

8cm

/\/ 10:cm\,/-\
17 cm

(D wf i.f, of these rectangular prisms has the
greatest volume? (measurements in cm)
A 4x3x2
C 8x2x1

Skills



WEEK2-DAYI

(D rh" jug contains 750 mL of water. Leon €) wh", is the area
pours out 300 mL. How many millilitres
remain in the jug?

A 350 mL B 450 mL C 550 mL D 700 mL

O Rtrrct uses an average of 15 litres of fuel
for every 100 kilometres. At that rate, how
much fuel is used by the truck in a distance
of 800 kilometres?
A 120 litres
C 150 litres

of the shaded
section? Write
your answer in
the box:

3 cm x 2 cm x 4 cm. The solid prism is made
of metal, which has a mass of 3 g for every
1 cm3. What is the mass of the Prism?
A24g B 609 C72g DB4g

(D wf'ua is the area of a triangle with a base

of 12 cm and a height of 10 cm?

A 30 cm2 B 60 cm2 C 90 cm2 D 120 cm2

@ cfrartotte's rectangular garden measures
10 metres by 6 metres. lf fertiliser is applied
at the rate of 200 grams per square metre,
what amount of fertiliser is needed?

A 1.2 kg B 2.4k9 C 12 kg D 24 kg

costs $28. lf Ben requires 10 litres of paint,
what is the smallest amount he will pay?

Hint 2
A $196 B $210 c $220 D $2Bo

'12 seconds. At that rate, how long would it
take to fill a 65 L container?
A72s B 73s C 75s D78s

(D n U"g contains 1 kg of lawn seed. lt is

to be applied at the rate of 25 g for each
square metre. What area can be covered?

A4m2 B 40m2 C 16m2 D25m2

@ U.rry poured the contents of a 2-litre
bottle of soft drink into 7 glasses. What
calculation finds the amount of millilitres in
each glass if all glasses contain the same
amount? Hint 3

A 2x 100 + 7
C 2x7+1000

(D rhi, is a scale drawing of a large floor. -\

130 litres
160 litres

6cmx4cm
20cmx4cm

A rectangular rug with an area of 12 m2 is

placed on the floor. What is the area of the
remainder of the floor?
A 6m2 B 12m2 C 52mz D64m2

12 litres of water. How many millilitres does
she use every second?

Write your answer in the bo*,1----l rl

(

@ rr"ry minute that Selena showers she uses
(9 n +-tiar" tin of paint costs $70 and a 1 L

G) lut" draws a rectangle with an area of @ rf i filled a 10 L bucket with water in
24 cm2. What could not be the dimensions
of Jake's rectangle?
A 12cmx2cm
C 8cmx3cm

this rectangular prism.

A 23 cm3

B 210 cm3

C 420 cm3

D 440 cm3

B

D

@ rino the volume of

B 7x1000+2
D 2x '1000 + 7

Hint 1: Estimate or use 1000 cm3 = 1 litre.
Hint 2: Try different combinations of cans to make at

least 10 L.

Hint 3: Remember, 2 L = 2000 mL.

@,tnsu'er.s'urd explrnutioru on puqes 2o2-2Lg

T

@ a rectangular prism has dimensions

I
c

C
B

D

€) whua is the area of a square with side
0.1 cm? Write your answer in the box:

l---l.,'
G) a tirt'' tank has dimensions 40 cm by 20 cm

by 20 cm. How much water does the tank
hold? Hint 1

A 1.6 1 B 161 c 1601 D16001
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